V7 Maths Knowledae Oraaviser Topic 1. Types of vumbers

What must I be able to do? Key vocabulary
O Understand avd use the following | Factor | A number that divides exactly into another number, e.0). 5 divides
types of numbers: vto 2.0 without remainder, so 5 is a factor of 2.0.

O Factors and multiples
Spark M2272, 322, 0a45 | Multiple | Numbers that appear in times tables are multiples.

O Prime vambers up +o 100 e.a. multiples of 2 are all in the 3 times table.
Sparx 322
T Square wambers up +o 152 Privme A vmber that can only be divided by itself and 1. They have exactly
O Cube numbers up to @3 2 factors, » o
0 Sauare roots e.0). 5 only has two factors (i.e.5=1x%5) so 5 is prime.
O Triangltlar vambers Sauare | The value whew a namber is multiplied by itself, eg ¢ x ¢ = 26 so 36

is a saquare number. We can write (% = 30

Cube The value when a number is multiplied by itself twice
€0.2X2x2=22=9

Sauare | A square root of a namber is a value that, when multiplied by itself,
Root gives the number e.0). the square root of 25 is 5 becanse 5 x 5 = 25.

| Factors  Multiples
L Factors of a wamber always occur W pairs. Each pair i You get a multiple of a number whewn you multiply i+ by another
i omultiply together o make the number v question positive integer i
e.a. Factors of 20 ey The first five multiples of ¢ are 6,12, 19, 24, 20

1 1x20=20  2x10=20  4x5=20

- Prime Numbers

L So fact 1,2, 4,5,10, . . .
> factors of 20 are, 1, 2, 4, 5,10, 20 i i A prime namber has exactly 2 factors, 1 and the wumber itself,

g 12x12 =12* =144

: There is only one even prime number which is the number 2.,
Sduare and culbe viambers All the prime numbers simaller than 100 are:
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; i@, 67, 73,79, 03, 949, a7

| Sduare wumbers Cabe numbers I
o171 1XA XA =13 =1 | | Sauare roots
2%x2=22=4 2%x2x%x2=2%3=9% Sdaunre rooting a number is the opposite of squaring. A saquare
L root symbol looks like an odd tick i
P 2x3=23%=4d 2x3x2=33=27% b 5
; CAS 60X 6 = 36, that means that the square root of 26 is 6. i
P Ax4=47=10 4x4x4=4%=04 P :
; Ll 3G =06 The square root of any square namber is an integer i
;5x5—_—52:25 5x5x5=5%>=125 : oo oo !
GXG=0"=30 CXGxb=0%=216 Triavgular Nuwmbers
FxF=7F*=49 Triangular numbers can be represented as triavgles.
5 u P :
P OXD=0%=04 P §
; oc B O z
L dxa=4%=91 - Each saquare @ 00
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L1212 =132=1¢4 [ | Each vamber increases by 4 more thav last +ime so the vext few

i Do , , , , d
A4x14 =142 = 196 1515 =157 = 225 | are (+5) 15, (+@) 21, (+7) 29, (+9) 36, (+A) 45 and (+10) 55



